EECS 360 Short Quiz #1
Signal and System Analysis
September 13, 2016 KE v

Name:

Open book, open notes, no calculator. Be neat, write legibly. For full credit yon must show all work and justify each answer,
You may write on the both sides of the paper, and use additional sheets of paper if needed.

L. (20%}In cach of the following cases, simplify the expression as much as possible using the properties of the continuous-
time unit impulse. Provide some explanation or intermediate steps for each answer.

(@) e Du(t-4)8(t-5)
® [ sa-1dr
© 2 u(t-0)]

@ [ x(o-rydr &
s

-ﬂl
~(559) 7
~(t.~4) _ ) - o fo—o) cg(éfS
() e u(e-1) St & Tuls-) )

Sl'l-"-ﬁnj Prnfv-f-v LR § |
':.‘Va,itnzh‘ﬁ'.._ d%-ﬂ.igw -‘{: :(

§ Y ’ | -
() d® %ﬁma\ :7—0535@-.)47: B} M(t_.g_,)w

recell the A T -le-d - -4) e\

(C> produk rle - F € )(A({—,-q)] :Jé%t&& w4 —t{) + Q( X@% (.L(_Jc=‘-f)j
9~ g[er{\/e:h'h; , ‘

= (£-4) =)

- (¢
_ (-4

S(4-4)

e Ua.l'm.t;‘k- @

| =_ét-quce—~z)+c§(t—‘0\ £
oo

(&5 S x(t)yd (- x\dr = 9('{)
L~
— 0 t-—t:o :-7 t-_‘.t




2. (30 %) Consider the signal x(t) shown below.

(a) Write an equation that describes this signal. -I‘[VIQ, iaTe £3F ﬁ\]& 0 Sr ‘H/\f S

(b) Sketch the integral of this signal. Are par abpl a— S"\Q
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3. M System classification: state whether or not the following systems are (i) linear, (ii) time-invariant, (iii) stable,
and (iv) causal. Provide convincing justification of each ciaim. To show that a property does not hold, all you must
do is give an example input whose output does not satisfy the condition of the property.

(a) A phase modulator: y(¢) = cos[w, £ + x(t)].
(b) An amplitude modulator: y(¢) = [A + x( t)] cos(w.t).
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